QUIZ#5- CHAPTERS
DATE: 08/10/18

Name: KQH Id#: Sect.#:
]
A 16-kg block and an 8-kg block is connected by a string as shown in the figure. The pulley is massless and the
surface is frictionless.
W
(a) Calculate the magnitude of the acceleration of the blocks. ke | —
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Two blocks of masses M; = 2.0 kg and M, = 4.0 kg are in contact with each other and move on a
frictionless surface under the action of a horizontal force F = 60 N (see the figure).

(a) Calculate the acceleration of the two blocks.
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(b) Find the magnitude/éf the force that M, exerts on M.
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A 70-kg man stands on a spring scale in an elevator. Calculate the apparent weight ot‘ the man if:
(a) The elevator is accelerating downward with magnitude of acceleration of 2.8 m/s’. we
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(b) The elevator is decelerating downward with magmtude afacceleratlon of 2.8 m/s’,
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(¢c) The elevator is accelerating upward with magnitude of acceleration of 2.8 m/s’. ,F
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(d) The elevator is decelerating upward with magnitude of acceleration of 2.8 m/s’,
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